Puzzle 7158 - Tuesday, 07 May, 2013 - Difficulty 3

15 17 1 8 15 | I8 | 11
2|7 |61,8 43|59
522 | | Dz | 7
45|87 (319|162
i H ’1’411’ ——— ‘ ’1’6111‘ P
1]/9|3|6|5/2]8]4 |7
1’4 — ,1111:} - 1’5’ — Ziiiiiﬁ: i’4’i — ,iiiiiﬁ} i : {é’:ﬁ, :::;}
6 | 85|37 |1]2|9]|4:
:I’O’ii”fffff;‘ i | ’1’5’”’,,‘:::::{‘3 ; k1’9’iii: % 1771765:11
917426538
15 11 ik A R 1
3245191867 |1
fr—— {i”” fff:ff,: ;87: e ib’i’”f ——
8141 2]|9)6 57§13
15 16 11 14 15 1
5|3 ,/98|117|4|2]6
,,,,,,,,,,,,,, e
76 ]1]12}4/3[9]8 5

Copyright (c) www.dailykillersudoku.com




